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QUESTION 1

An administrator needs to boot a VM to a bootable CD. The administrator tries to configure the VM to boot to it, selects
to add disk, and goes to the images available. The image for the bootable CD is unavailable. What is the likely issue? 

A. The CD-ROM interface is too slow 

B. The bootable CD image is corrupted during creation 

C. The VM needs to have a standard disk attached before it can boot to a CD 

D. The administrator selected a disk instead of an ISO when creating the image 

Correct Answer: B 

Reference: https://next.nutanix.com/prism-infrastructure-management-26/booting-vm-to-cd-no-drives-present-31800 

 

QUESTION 2

An administrator is working with sensitive data and wants to encrypt that data by Nutanix Software Encryption. 

Which three types of information and components are required to enable this configuration? (Choose three.) 

A. Key Management Server (KMS) 

B. Root Certificate Authority (CA) 

C. Signed Certificate for each CVM 

D. KMS Certificate 

E. Self-Encryption Drives (SED) 

Correct Answer: ABE 

 

QUESTION 3

Cluster RF3 currently has 5 storage containers with storage pool: 15 TB. You add 2 containers `A\\' and `B\\' with 1 TB
reserved capacity each. 

What\\'s now the raw capacity of all seven containers? 

A. original 5 containers:4 TB each; containers A and B: 3 TB each 

B. original 5 containers: 3 TB each; containers A and B: 4 TB each 

C. original 5 containers: 3 TB each; containers A and B: 3 TB each 

D. original 5 containers: 4 TB each; containers A and B: 4 TB each 

Correct Answer: B 
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QUESTION 4

Which type of data is distributed by Zookeeper to ensure availability in the case of node or block failure? 

A. User data 

B. Metadata 

C. Configuration data 

D. Snapshot data 

Correct Answer: C 

 

QUESTION 5

Which three statements are true about Agent VMs? (Choose three.) 

A. An Agent VM is automatically migrated to another host 

B. Agent VMs are never migrated to another host 

C. Agent VMs are powered on before other VMs 

D. Agent VMs are powered off if an HA event occurs 

E. A running Agent VM can be moved to another host 

Correct Answer: BCD 
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